
Problem 4: Famous Function Solution

We can calculate
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Note that for odd k, this integral equals zero. Now look at 2k for k ∈ N>0. We can calculate
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Combining, we have ∫
xkσt(dx) = tk/2

∫
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= tk/2Ck/2.

We can find Ck by using the recursion

Ck+1 =
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C1 = 1.
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